Physics 1


             Robak


Conservation of Energy
Law of Conservation of Energy: within a closed, isolated system, energy can change form, but the total amount of energy is constant - energy cannot be created nor destroyed

In a closed isolated system, the type of energy of an object can change, but the sum of GPE and KE is constant. The sum of GPE and KE is called mechanical energy.
A decrease in GPE = increase in KE. The sum does not change - mechanical energy is constant

KEi + PEi = KEf + PEf 
1/2mv12 + mgh1 = 1/2mv22 + mgh2
Changing the path an object follows DOES NOT change PE. PE depends only on height.
KE is the same whether a ball falls vertically or slides down (refer to handout)
PE to KE and KE to PE changes are the most common types of energy conversions.
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Roller Coaster
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As a coaster car loses height, it gains speed; PE is transformed
into KE. As a coaster car gains height it loses speed; KE is
transformed into PE. The sum of the KE and PE is a constant.




If total energy is conserved, the potential and kinetic energies must have changed into other forms.
If you drop something heavy, you feel the floor tremble. Some energy changed into motion of the floor (vibrations) or sound
